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FUKIEN SECONDARY SCHOOL
S2 Final Examination (2020-2021)
History
(1 Hour)
Answer Sheet
Date: 7" June 2021 Name:
Time: 8:30 a.m. - 9:30 a.m. Class: No.:
Score: /100
Part A Multiple Choice Questions (10 marks)
1 2 3 4 5
Part B Fill in the Blanks (10 marks)
a b.
c d.
e f.
g. h
i J.
Part C Matching (6 marks)
Column A Column B

1.  Workers were assigned to different specialized
production process.

2. Production was done in factories using bigger and
heavier machines.
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3. Production was done at home using simple hand tools or
basic machines.

4. It advocates that the means of production should be
owned privately.

5. It advocates that the means of production should be
owned publicly.

6. It refers to the tide of colonial expansion started in the
18™ century.

Part D Map Study (4 marks)

Part E Identification (6 marks)

A. B
C D.
E. F

Part F Data-based Questions (34 marks)

Question 1

(@) The changes in rural-urban population of Britain before and during the Industrial Revolution:

(1+1 marks)
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(b) Problems faced by people when they migrated to industrial towns:

(2 marks)

(©)

Workers belonged to the capitalist class / the middle class / the working class during the Industrial

Revolution. (circle the correct answer) (1 mark)

(d) Workers could only live in slums in cities during the Industrial Revolution because:

(2 marks)
(e) Living conditions of the slums:
1. (1 mark)
2. (1 mark)
Question 2
(@) Three examples of Asian goods:
(1 mark)
(1 mark)
(1 mark)
(b)
The land trade routes were controlled by: (2 marks)
The sea trade routes were controlled by: (1 mark)
(c) Reasons for Asian goods becoming more expensive in the 15" century:
(2 marks)

(2 marks)
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(d) Reasons for European countries sending explorers to find new sea routes to Asia:

From the source:

(2 marks)
Own knowledge:
(2 marks)
Question 3
(a)
The ‘Boxing competition’ refers to: (1 mark)
Clue:
(1 mark)
(b)
View of the cartoonist towards the strength of the two boxers:
(1 mark)
Explanation:
(2 marks)
(©)
The result of the ‘boxing competition’_matched / did not match the prediction of the cartoonist.
(Circle the correct answer) (1 mark)
Explanation:

(1 mark)
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(d) Effects on Japan’s international status:

1.

(2 marks)

(2 marks)

Part G Long Questions (30 marks)

Please write the question numbers clearly. You are required to use complete sentences and
paragraphs to answer all questions.
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End of Answer Sheet



